AIR GRIPPERS SERIES
oflo] a2|m wai=
INDEX

A8 EtY
UETIETIES -1 T
WEEE 9 Fo 290 A
Py

o{2{2 oo 12|H

ABMC{E EtY

N o F2EA

A

MA ARI| Hs
=
==

HEREE o
R+=

14

H

=]
=

nZy EtY

732
733
734

735

———— 735

EH
2
2 290

737

- 738

tha Efd

— 741

738

739

—_— 729

740

741
742

— 744

744
745

At 2 FEEs —————— 746
M Afix] Fgtuy ———————— 746
Rz Y OxE s ———— 747
HBAE| W MM AQIx| FHRuwy —— 749

At o FRHAM ——— 750
oXg Jelm ——— 751
WEREE 3 FQ 220 xiE 752
pyES-S 753

Mg 2l megs ————— 756

PEN 757
HA EC ElY

Mo FRYM ———————— 759

PPN 760
= Y7 Mats et

ANY o FRHY ———— 761

IS 761

MY U F2HN —————————— 762
|

= 762

At o FRHY ———— 764
pyE 765

/N =0 [A1257] Hol E=(Fi)-P.572] TorrAfe] Zo| = Hr=A| 210 FHAIL. |

731

PCSF
PCSH

PCMA

PCMB
PCMBR

PCMJ1
KCMJ

KCMB

PCMI

PCMOB
PCMOC

PCCG

PCCN

KSL

PCBOO

PCQA-AH

PCQVL

PCQI2

PCRPMO

PCRO

PRT

PSB

PSL
PSAR

PVBA-2100

el

o
HhIA2]

4 A%

430044

oot 32/

CHM

EETLH]

5450

2=

o]




o2 oo 22| [P
CHE Er posH

PCMA
PCHQ .
PCMBR
HIlE MAE [ o E ZoiH]p PCMJ1
O SHESH MAIE HESE ZE JtEolol
FH2Ash 228 = ASLICL KoM
O ML A ¢ 64~4 1602 LY - Dutx| ME
olL|C}, KCMB
O MM AQIX|2 Or1kio] 7|2 LHEE|0 Uon, PCMI
= Mi
T Y A MM AQIXIE Meigt £ ASLICE
PCMOB
PCMOC
EI=1-
VL FEEA rece
e —
PCCN
5t= Al PCHQ PCHQ - 64 M_ oS o
e =58 —
Mzicid mm| 64 80 100 125 160 KsL
AE23 12 | 18 | 20 2% | 32 T2 olol J2|m SIOHURI A
= 8 EpY PCBOO
AL MPa 0.3~0.7 A M : Ofayl 7= E
A2z ¢ —10~+60(F#®) Al PCOA-AH
= 29 64 : 420
MA] AR A | RT : REH AQIZ|, RTN : NPN 52 RTP : PNP 53 80 :925 Pea
A =TA ST == 100 : 4100
B K| o028 \ 045 [ 076 [ 14 [ 25 125 : ¢ 125 poQE
O AZ 3|4 1502t5] O|F 0= SRE HEEULCH 160 : ¢ 160
PTA
— — PAS
oiX|2 Jefj=
PCl
PCKB
PCHQ-64 PCHQ-80 PCHQ-100 PCKC
9| Z2F 1.2Kg L=20mm 232 : 1.8Kg L=25mm 232 : 28Kg L=32mm
00 2B 12Kg s00 A 8Kg 000 2 219 PCRPLO
= = ~
= N = ~ .
w R E TR 71 S wEE 2790 peRPUD
K 200 =< % 300 << T 000 SR — T |
=) ] K i A PCRO
100 2lg.ohxl 1 200 9|74~ mx |2 —] i 450 — —
b 24
a o1z mxie PRI
0 0 300
0 25 5 75 100 0 10 20 30 40 50
mx|Y Z mxIE 2ol L 0
FXIE 2ol L (mm) tAIE 2ol L (mm) 0 25 50 75 100 125 e
otx|&™ 20| L (mm) PSAR
PCHQ-125 PCHQ-160
PB-200
I Z2F 4 5Kg L=32mm IFEF : 6.5Kg L=40mm
1250 1600
‘ [ = A2iey
51000 ! Syo00 =mfm=bo | WH oz | E SN2
S Sl P - - e ———f---] =
il 750 ! o 31 o HH AR
K =~ | X0 elg-mxE— W H4 A
iy 500 9| A-mtx|2 &) RO =N | owons
a U 400 K JELEI
250 E]
0 ofof 22jzf
0 25 50 75 100 125 150 0 25 50 75 100 125 150 W2 TXIE (- - - - -
tXIE 20| L (mm) oXIE 20l L (mm) Q|7 mKx|2 (=) CHM
O UX|Z IX|SHE A9 LS AF W[ 1/10~1/20 HER ReR
HHSI FHAIR.
o3 E mMX|St HEiZ ol J2|HE olsAl7l= Z2e 39 HE%AlE

SH2 Hs OX|Ho| 1/30~1/50 =2 MEIH FHAIL,
oL A I mMX|H FHO HEH, 32| O|SH=0 watA o

x| 7tset S0l 37 Xt0|7h L7| W20l AR & J2imol 2

FR= FRRZMT ALESI0] FHAIR.

M



PCSF

= A
PCSH XEE mm)
PCMA
PCMB
PCMBR
~
N
PCMJt os m c
4-a oF, | bt
KoMJ < | K
\ l_ & L | \ \
KCMB u =
o _l@y @ 538 Tt &
PCMI N w 2-TT
£ — == —— ==
PCMOB = & 9 &
PCMOC —Tr— T o —— 7T >~ T T 9 <
PCCG = =
PCCN $ $ 2| Lf ZN
KSM 40y i~ 2:XX L
2-0 ‘,7 J — ‘ 4-MM
KSL H N2 N1
PCBOO
POOA-AH 22 |A|[B|C|D|E|F|G|H| I |[J|K|L|M| MM |N1|N2| O OAOK|OP|OS QaQ T| 1T
A
PCHQ—64 64 (36| 42| 2 4 (13| 5|27| 42| 16| 22| 27|18 | M5x0.8 7 16.5|$4|4 (20| 10 | 17 [M4x0.7xZ0| 8 20 |M5x0.8
Peavt PCHQ—80 | 80[42[51| 2 | 5|16| 6| 32| 52| 21| 23] 34| 24| M5x08 | 8 |195|65(5 |25| 12 | 23 [M5x0.8xZ0I10[ 25 |M5%0.8
) PCHQ-100] 100| 50| 59| 3 | 6[20| 8]38] 66| 46]20] 40|20 Mex1.0 | 95]21.5]06]6 [32] 14 | 27 [Mex1.0xZOl0] 28] PT 1/8
pea PCHQ—125]125| 60| 68| 5 | 8[24| 8] 45| 82| 55| 36] 44|38 M8x1.25[105]22 |#6|85]40] 16 | 30 [Mex1.0xZOl2 36| PT 1/8
o PCHQ—-160] 160 72| 82]35[ 11 [32 [ 10] 56] 100 54] 34| 55| 50 M8x1.25[ 12 [32 |#8]9 |50 20 | 40 [MBx1.25xZ0I16] 46| PT 1/8
PAS
245 uu XA XX
FKB PCHQ—64 | $42%, 675X Z0(26| 64| ¢4 525, $8x20|8|25
PCKC PCHQ—80 | ¢42E, 675X 0(34| 4| $5125, $9xZ0[10[3
PCHQ—100| #5.02E,¢9.1x20[45| 65| 8 ZE, ¢ 11 x20[11]3
PCRPLO] PCHQ—125| $68ZE, ¢ 11x 20|41 66| 69 BE, 15 xZ0[14|35
PCHQ—160| ¢6.8%5,¢11x Z0|56| $6| ¢9 ZE, ¢15xZ0|15/4
PCRPMD
PCRO
PRI 47 Amo|M Eaf3l MM AQIX| 5 HitH
PSB =0.4
PSL 02} 1
PoAR s RV Ete) AIA] AQIR|
PUBA-ZI00
Alelcy
A2l
LUESH]
230Y N
RH EfR) MM AR
ojof 22/zf
AC/DC: 4~120V
CHM 2= | 2| 3| a5 | 6| 7| L8| Lo|L10
o PCHQ—64 | 20 | 13 | 4 5 | 4 | 25102 45 | $45] 4
FIRR PcHQ-80 | 25 | 16 | 5 6 | 5 | 3 |[122] 55 [¢55] 5
- PCHQ-100| 32 20 6 8 6 3 14.2 55 | $6.6 6
b PCHQ-125| 40 | 24 | 85 | 8 8 | 35162 | 55 | $6.6| 6
PCHQ-160| 50 32 9 10 1 4 202 | 65 |69 8
HE(%)
3hopey|

742



OHX|= J2i=

PCHQ-0S

PCHQ-64-0S

3AFEF 1.2Kg L=20mm

500

>~

400

FX12 (N)

~

300!
=)

9 200

Al
=

25 50 70 100
X Zol L (mm)

PCHQ-125-0S

B 4.5Kg L=32mm

1500

1250

1000

LN N(Y)

750

\\
N

=2

Al

GBI

O IIX| OPMER|= o HX|20| 5tsioi= x| MelS RX[skH Eich

eiigele:

25 50 75 100 125 150
X Zol L (mm)

2|4 Bbars, Z|Ci 6.5 bars

X = YEZ7| MR + E (Amg)
A7 ® = : 6kgf/cm?

XIFE m

m)

PCHQ-0S

kX1 (N)

s

kX1 (N)

AF

H1

PCHQ-80-0S

23Z2 : 1.8Kg L=25mm

600

N

500

400

N

N

™

300

2|3 mx|

25

50

L
75

PCHQ-160-0S

23 E2F : 6.5Kg L=40mm

2000

100 125
X Zol L (mm)

1600

~

™~

P~

1200

~~

800

Q-1

I~
PN

0

25 50 75

X Zol L (mm)

G1

100 125 150

(N)

o

ilod

B

800

650

500

PCHQ-100-0S
A3 Z2F 1 2.8Kg L=32mm

\\

N

PCSF

PCSH

PCMA

PCMB
PCMBR

PCMJ1

KCMJ

2

Z ﬂfxllii

350

A1

25 50 75 100 125 150

HX|E 20l L (mm)

ol mix|a! (=)

D1

E1

7=
S

A1

B1

c1

D1

PCHQ-64

36

35.5

PCHQ-80

45

41.5

12

PCHQ-100 | 54

49.5

15.5

17

PCHQ-125 | 66

59.5

10

22

PCHQ-160 | 80

71.5

12.6

26.5

743

KCMB

PCMI

PCMOB
PCMOC

PCCG
PCCN

PCBOO

PCQA-AH

PCQVL

PCQI2

PRT

PSB
PSL
PSAR

PVBA-2100

Haicy
Atz

A AR

PEQ L

oot 32/



